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Part A [Marks - 5x8=40]

Answer q] Questions in Pgrs A (150 words eqch),

All Questions carry equal marks,

Part B

[Marks . 4xl5=60]




() Dlicit

(© Warrant

@ Bail
e) De jure
§h) Statute

() Intestate

of any four of the following Latin

Explain the meaning

2.
8

words

(@) Caveat emptor
() Swo motto
(¢) Fait accompli
(d Sub-judice
(e) Ad hoc
() Mens rea
(g) Fait justicia
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& Make sentences using any four of the following pair
of words * 8
(@ Bail and Bale
) Symmetry and Cemetery
(¢) Caste and Cast
d) Corporal and Corporeal
(e) Elicit and Illicit
63) Injunction and Injection
(7)) Gaol and Goal.
4. Substitute one word for any four of the following : 8
(@ Onme who knows evérything
@) Killing oneself
(¢) Work for which no salary is paid
d A remedy which never fails
(e) One who always looks at dark and depressing
side of things
() One who cannot pay one’s debts
@ ~Alpereon unable to read and write.
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5.

Make sentences using the following pattern 8
i

@  Subject + Verb + Indirect Object + Direct Object

®)  Subject + Verb + Gerund

(¢)  Subject + (be) + Complement

(@) Subject + Verb + that clause.

(@) Secularism ip India
®) Independence of Judiciary in India

(©) Legal aid to poor.

Translate into Hindj 4

The role of Judiciary ig Very important. Our set-up
is federal. In federa] System g Number of State
Governments co-exists and there is division of Powers
of the SOvereignty of the state amongst varigyg
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~ constituents of the federation. The constitution has
established a very complicated, legislative and financial
arrangements. It has granted against the state. The
state is powerful institution in comparison to the
individuals, therefore, the independent and impartial
judiciary is essential for the functioning of a federal
system and its implementation is essential for the

success of the federal constitution.
Translate into English :

wwmmﬁwﬁ%ﬁaﬁwwmﬁ
ﬁfaumﬁﬁmwmﬁﬁaﬁaﬁxﬁwaﬁm
milwﬁmmaﬁxﬁmﬁmw
mﬁmmmwﬁ,ﬁmm%l
w@mmmmmﬁmﬁa@mm
wﬁmm@mﬁm%lmmwm
ﬁ%ﬁﬁﬁmﬁwa@ﬁ,mmw
WWW%WWW% ?
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10.

11.
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Write precis of the following passage :

Unemployment arises from a variety of causes. One
that is always recurring and of the effects of which,
we have had a recent example is the “disorganisation
of the industry”, resulting from a long war. This is
a serious problem admitting of no easy solution at
the best times. Again there is unemployment which
follows a marked diminution in the quantity of any
raw product to a very trivial matter perhaps for the
fact that, men are working half-an-hour longer than

the regulations of their union permit.

Draft a plaint by a servant for claiming his salary.




